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QUESTION 1

You need to implement the Customer Sales and Manufacturing data models. 

What should you do? (Each correct answer presents a partial solution. Choose all that apply.) 

A. Install a new instance of SSAS in tabular mode. 

B. Use SQL Server Integration Services (SSIS) to copy the database design to the SSAS instance, and specify tabular
mode as the destination. 

C. Use the Database Synchronization Wizard to upgrade the database to tabular mode. 

D. Use the current SSAS instance. 

E. Use SQL Server Data Tools (SSDT) to redevelop and deploy the projects. 

Correct Answer: B 

 

 

QUESTION 2

You have an OLAP cube named Cube1. Cube1 has two partitions named partition1 and partition2. You need to
configure the storage mode for each cube partition. 

The solution must meet the following requirements: 

Users must be able to retrieve aggregate data from partition1 as quickly as possible. 

The processing time for partition1 and partition2 must be minimized. 

The least possible amount of storage must be used for partition2. 

What should you do? To answer, select the appropriate storage mode for each partition in the answer area. 

Hot Area: 



Correct Answer: 

 

 

QUESTION 3

You need to select the appropriate storage settings for the cube. Which settings should you choose? 

A. hybrid OLAP (HOLAP) with proactive caching disabled 

B. hybrid OLAP (HOLAP) with proactive caching enabled 

C. relational OLAP (ROLAP) with proactive caching enabled 

D. multidimensional OLAP (MOLAP) with proactive caching enabled and a rebuild interval of 24 hours 

Correct Answer: B 

 

 

QUESTION 4

You are designing a SQL Server Analysis Services (SSAS) cube that contains two measure groups named Sales
History and Current Sales. 

The Sales History measure group has the following characteristics: 

Data changes on a monthly basis. 



The measure group contains a very high data volume. 

Queries that use the measure group only reference aggregate data. 

The measure group includes SUM, MIN, MAX, and COUNT aggregate functions. 

The Current Sales measure group has the following characteristics: 

Data changes frequently. 

The measure group contains a low data volume. 

Queries that use the measure group often reference non-aggregate data. 

The measure group includes SUM, MIN, MAX, and COUNT aggregate functions. 

You need to select a storage mode for each measure group. The solution must meet the following requirements: 

For the Sales History measure group, query performance must be optimized over data latency. 

For the Current Sales measure group, data latency must be optimized over query performance. 

What should you do? To answer, select the appropriate storage mode for each measure group in the answer area. 

Hot Area: 



Correct Answer: 

 

 

QUESTION 5

You are developing a SQL Server Analysis Services (SSAS) tabular project for a Power View solution. You need to
grant permission for salespersons to view only the data based on their sales territory. What should you do? 

A. Create a member and then create a Multidimensional Expressions (MDX) filter. 

B. Create a member and then create a Data Analysis Expressions (DAX) filter. 

C. Use SQL Server Management Studio to create a role. Then create a Multidimensional Expressions (MDX) filter. 



D. Use SQL Server Management Studio to create a role. Then create a Data Analysis Expressions (DAX) filter. 

Correct Answer: D 

 

QUESTION 6

You are developing a SQL Server Analysis Services (SSAS) cube. 

You need to reuse a Revenue measure group from a different database. 

In SQL Server Data Tools (SSDT), which three actions should you perform in sequence? (To answer, move the
appropriate actions from the list of actions to the answer area and arrange them in the correct order.) 

Select and Place: 

Correct Answer: 

 

 

QUESTION 7

A SQL Server Analysis Services (SSAS) cube has roles to define dimension data security. A role named USA allows
users to browse data pertaining to the United States. A role named Canada allows users to browse data pertaining to 

Canada. 

A user can browse sales data pertaining to the United States but cannot browse sales data pertaining to Canada. You



validate that the user belongs to the USA and Canada roles. 

You need to reproduce the issue in SQL Server Management Studio (SSMS). 

Which option should you select? To answer, select the appropriate action in the answer area. 

Hot Area: 

Correct Answer: 

 



 

QUESTION 8

Note: This question is part of a series of questions that use the same set of answer choices. An answer choice may be
correct for more than one question in the series. 

You are creating a SQL Server Analysis Services (SSAS) multidimensional database. 

Users need a time dimension for: 

Dates 

Delivery dates 

Ship dates 

You need to implement the minimum number of required SSAS objects. 

What should you do? 

A. Use role playing dimensions. 

B. Use the Business Intelligence Wizard to define dimension intelligence. 

C. Add a measure that uses the Count aggregate function to an existing measure group. 

D. Add a measure that uses the DistinctCount aggregate function to an existing measure group. 

E. Add a measure that uses the LastNonEmpty aggregate function. Use a regular relationship between the time
dimension and the measure group. 

F. Add a measure group that has one measure that uses the DistinctCount aggregate function. 

G. Add a calculated measure based on an expression that counts members filtered by the Exists and NonEmpty
functions. 

H. Add a hidden measure that uses the Sum aggregate function. Add a calculated measure aggregating the measure
along the time dimension. 

I. Create several dimensions. Add each dimension to the cube. 

J. Create a dimension. Then add a cube dimension and link it several times to the measure group. 

K. Create a dimension. Create regular relationships between the cube dimension and the measure group. Configure the
relationships to use different dimension attributes. 

L. Create a dimension with one attribute hierarchy. Set the IsAggregatable property to False and then set the
DefaultMember property. Use a regular relationship between the dimension and measure group. 

M. Create a dimension with one attribute hierarchy. Set the IsAggregatable property to False and then set the
DefaultMember property. Use a many-to-many relationship to link the dimension to the measure group. 

N. Create a dimension with one attribute hierarchy. Set the ValueColumn property, set the IsAggregatable property to
False, and then set the DefaultMember property. Configure the cube dimension so that it does not have a relationship
with the measure group. Add a calculated measure that uses the MemberValue attribute property. 



O. Create a new named calculation in the data source view to calculate a rolling sum. Add a measure that uses the Max
aggregate function based on the named calculation. 

Correct Answer: A 

 

 

QUESTION 9

You are designing a SQL Server Reporting Services (SSRS) report that sources data from a Microsoft Azure SQL
Database database. 

The report must display the value and status of a Key Performance Indicator (KPI). 

Which report item should you use? (Each answer presents a complete solution. Choose all that apply.) 

A. Image 

B. Gauge 

C. Indicator 

D. Data Bar 

E. Sparkline 

Correct Answer: BC 

 

QUESTION 10

You need to grant appropriate permissions to the SSISOwners SQL Server login. What should you do? 

A. Map the login to the msdb database. Assign the user to the db_owner role. 

B. Map the login to the msdb database. Assign the user to the ssis_admin role. 

C. Map the login to the SSISDB database. Assign the user to the db.ssisadmin role. 

D. Map the login to the SSISDB database. Assign the user to the db_owner role. 

E. Map the login to the SSISDB database. Assign the user to the ssis.admin role. 

F. Map the login to the msdb database. Assign the user to the db_ssisadmin role. 

Correct Answer: E 

 

 

QUESTION 11

You have two servers named Server1 and Server2. Both servers have SQL Server 2012 installed. Both servers have a



SQL Server Integration Services (SSIS) catalog. 

You are preparing a disaster recovery plan for a business intelligence (BI) solution. 

You need to ensure that the SSIS catalog from Server1 can be restored to Server2. 

Which two actions should you perform on Server1? Each correct answer presents part of the solution. 

A. Back up the master database. 

B. Run sp.configure \\'clr enabled\\', 0. 

C. Back up the master key of the SSISDB database. 

D. Back up the master key of the master database. 

E. Back up the SSISDB database. 

F. Run sp_configure \\'clr enabled\\', 1. 

Correct Answer: CE 

 

QUESTION 12

You are developing a SQL Server Reporting Services (SSRS) report to display a list of employees. The report will be
embedded into a Microsoft SharePoint Server Web Part Page of the company intranet site. The report consists of a
single table. The design of the table is shown in the following diagram. 

You need to configure the EmailAddress detail text box to create a new email message. The email message must be
addressed to the email address that was clicked by the user. 

Which four actions should you perform in sequence? (To answer, move the appropriate actions from the list of actions to
the answer area and arrange them in the correct order.) 

Select and Place: 



Correct Answer: 
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